spectrum number fa (107" erg em™2s7'47") fa (1077 erg em™2s7'47")

& and x
0.5

Mean Spectrum

Fe2 1357% 0£0 km/s
rm990 BLR 3000 NLR 800 kmf-

s anboaal JG J.HJM Rl L “IL“ T

YT 0 LN P Lo

AVG
cont

BLR

4000 5000 6000 8000 10060

» @)

RMS Spectrum

m990 BLR 3000 NLR 900 km/s

0.5

11 I 1 IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIImIIIIIIIIIIIIIIIII ]

4000 5000 6000 8000 10060

A ()

x(\t) = ( Data — Model A ) /o x

e L g A SR T R Tl (Y
L Bt s B AT

I\‘\I“i \‘; i “‘I‘“w[ "3\‘ “: :““l‘l““\:\‘:u“““ il ‘U“ h ‘\“““ u“:u (A L e 1:”" ‘“"wll‘h‘"‘ WAL il Ll
e A N AR TR o A R R R AT R
i e e b RS R B R
R R BT St

At et UL B

il SSRGS

LIt e
b U g fai by SR T
e e e e e

L T A
0 g A e Lt T I O e et e | A i

S R S R

i
L) G el |

ﬁ““ﬂmemmeﬂwmmwwwxmmwaMWNwwwwww‘

T R A I AR B R T TGRS0 TR R T AT
Lt

A el A R i R
SRR G TR
L G e R TR b, IR T Bt
Lot e A S S LRI CEAE e s UL b A L R
g i “JH‘,‘HH“ gt A A A bt L i
i et S o A b T T
WA “1.“,1‘1“““‘ bl ‘u“‘"‘” Wil “Jwg““‘ il \‘j“"‘w‘m‘u‘“.““' Jikinb \‘3 “w\\u““‘:“uu“‘m !

hiif

f i i il s Hiwd e
(e SR e A AR N TR T i A k

raw

ORrMsx

RMSx

-2

4000 5000 6000 8000 10080,

bad:515=0.12% A (B)

4 = 0.007(18) x = 0.878(77) => 0.878(77)
rm990 med(mad)

1.5

g MR RS i as y B T sy I SRR s e R R

| i ababi ao s bk g BT PIE R TRY TR P T RSy YIS TRT e

5000 6000 10080
A (A) 2<-86.00

f) (10717 erg em™2s7'87")

BLR

& and x

0.2

-0.2

15 20

10

1.2

0.9

Continuum Lightcurve

T ﬂl)uu

0
Ac %

35904 ) 46774 ) 60938 ) 79384 ) 103408
7000 7500 8000 8500 9000
MJD — 2450000

BLR Lightcurve

MJD — 2450000

Corrections

7000 7500 8000 8500 9000
MJD — 2450000

u = 0.006(128) x = 0.855(21) => 0.855(20)

med(mad) A
— T 1

— T T T T — T 19
: X

MJD — 2450000



